Raptor Deals

Board 1 a43
East Deals ©Q9754
None Vul 865
8AQI10
a7652 2AKQ
©A1063 ©K82
T32 974
8J42 89863
a2J1098
©J
TTAKQI10
8K75

NS2N;NS3" ;NS 1&; NS 1O; NS 18

West North East South
18 1
10 27 20 3°°
Pass 30 Pass 3=
Pass 3NT All pass
3 NT by North

Raptor: (18)-INT-(P)-2"'N

RR: see Raptor

Std: (18)-1""-(P)-1©; (P)-1&2-(P)-2""S

After the raptor INT, North thinks his clubs are wasted. Switch hearts
and clubs in the South hand, and there is no heart game.

Raptor Deals
Board 2 a32
East Deals ©J10875
N-S Vul 64
87643
aQJl4 2A1097
©KQ962 ©4
K75 7932
8109 8AKQS82
aKg65s
©A3
“TAQJ108
8J5
EW 32, EW 2N; EW 3§, EW I©; E 1"~
West North East South
18 17
1© Pass 1= Pass
20 All pass
2 © by West
Raptor: (18) - INT - (X) - P [asks];
(P)-28[3]-(P)-2"";... BAD

RR: see Raptor

Std: (18)-1""-(1©)-P; (1) -P - ...

On the Std auction, the opponents will play either 2NT (average) or
3NT (good). On the Raptor auction, the choices are 2° "X (bad) or
2NT.



Raptor Deals

Board 3 a
East Deals ©85
E-W Vul 765
8A10987632
aQ1093 AaAKIB74
©10963 ©AJ7
"J92 7103
8KQ 854
a652
©KQ42
TAKQS84
8]
NS 58; EW2&; NS 3", EW IN; NS 1©
West North East South
& 27
2a Pass 30 Pass
4= All pass
4 & by East

Raptor: (12) - INT - (22) - 48N

RR: see Raptor

Std: (1&)-2" - (22)-38;(3®)-P - (P) - 48N

Raptor Deals
Board 4 akKlJ3
East Deals ©A7
Both Vul 752
8AJ843
2986 aAQ75
©KQ953 ©104
7843 796
8102 8KQ975
21042
©J862
TTAKQI10
86
NS2N; NS3 ", EW 1, NS 10; EW 18
West North East South
Pass Pass
Pass 18 Pass 1°°
Pass I NT 28 3NT
All pass
3 NT by North

Raptor: (18) - INT - (P) - 2NT;
377 -(P)-3NTS BAD (better not to bid)

RR: N/A

Std: (18)-1""-(10)-2NTN



Raptor Deals Raptor Deals

Board 5 2A9854 Board 6 294
East Deals ©5 East Deals ©AQ7652
N-S Vul “TA8632 E-W Vul 1093
893 896
al aK76 aKkJ7 210853
©K93 ©AQJ842 ©109843 ©KJ
"QJ1097 K54 K2 Q65
8Q1065 838 8J105 8AKQS
aQJio3 2AQ62
©1076 ©—
= "TAJ874
8AKJ742 87432
NS 42, E30; W 20; NS 38; EW IN; EW 27~ EW 2N; EW 22, EW 28, EW IO; NS 1™~
West North East South West North East South
10 28 I NT 2&l
20 Dbl! Pass 2= 3= Pass 3NT All pass
Pass 3= Pass 4= 1. Cappelletti - spades and a minor -- 3- H; 4+ S; 11+
All pass total points
1. Responsive double -- 2- C; 4+ D; 5- H; 4+ S; 6+ 3 NT by East
total points Raptor: (18)- INT-(P)-2"";
4 & by South (P)-P-(20W) GOOD
Raptor: (1©) - INT - (20) - 3© [&]; (40) - 42S RR: (18)- INT - (P)-2"" [P/C];
RR: see Raptor (P)-P-(20W) ~GOOD
Std: (1©)-28 -(20) - X; (30) - 43S Std: (18)-1""-(1©)-P; INTE

Pigs wind up on the wrong end of the cleaver: the raptor North should
take his top undoubled. However, the RR North could blow up the
board by choosing to bid his hearts.



Raptor Deals Raptor Deals
Board 7 2875 Board 9 272
East Deals ©Q43 East Deals ©A8763
Both Vul 71063 E-W Vul 7632
8K982 8Q95
aKe632 aqQlo 2A84 2J109653
©1096 ©AKIJ72 ©Q104 ©9
752 K7 J107 A4
8A1063 8Q754 810764 8AKS3
2AJ94 aKQ
©85 ©KIJ52
TTAQJ984 TTKQO985
8] 8J2
EW 20, E38;EIN;NS2°"; W2§; E I& EW 32; NS 20; EW 38; NS 2™~
West North East South West North East South
10 2°° 1= Dbl
20 All pass 22 30 3= All pass
2 © by East 3 = by East
Raptor: (1©) - INT - (2€E) Raptor: (12) - INT - (22) - 30; (32E)
RR: see Raptor RR: N/A

Std: (1©)-2"" - (2OE)

Std: (1®)-P-(2=)-P; (P)-X-(P)-30; (32=E)
The standard South plans on equal level conversion, which should
apply by a passed hand - might double initially.



Raptor Deals

Board 10 aKo9853
East Deals ©AR2
Both Vul 194
863
aAnT4a aj
©10653 ©QJ94
Q75 ""AKI10862
8J95 8Q10
aqQllioeé
©K7
3
8AK8742
NS 52, EW 2©; EW IN; EW 2°"; NS 28
West North East South
1 28
Pass Pass 27" 38
All pass
3 8 by South

Raptor: (1°7) - INT - (P) - 2"~ [ask];
X)-2=2-(37)-3=2;(P)-4=S
RR: (177) - INT - (P) - 37" [LR+ask];
(X) - 48 [§, accept] - (P) - 42N
Std: (1©)-2""-(20) - (X); (3©) - 32 - (P) - 428
If East bids 37" instead of doubling 2", the raptor pair may lose the
spade suit.

Raptor Deals
Board 12 ajJj9874
East Deals ©A104
N-S Vul “"KI4
8104
aKQ632 2105
©872 ©J63
106 ""AQS832
8Q96 8AJ7
aA
©KQ95
""975
8KR8532
NS3©; NS IN; N28; NS 1=, N1 ;S 18
West North East South
1°° 10
1= 20 All pass
2 © by South

Raptor: (1°7) - INT - (P) - 2"~ [ask]; (P) 20S
RR: N/A
Std: (177)-1©0-(12) -20S



Raptor Deals Raptor Deals
Board 13 2A1063 Board 14 2432
East Deals ©K]J East Deals ©4
Both Vul 842 None Vul "QJ4
8K984 8AKQ876
ajg4 aK2 2109765 aj
©A54 ©Q987632 ©9765 ©AQJ10832
79765 10 796 K105
81072 8AQJ 8J3 8105
2Q975 2AKQS
© 10 ©K
“TAKQIJ3 TTA88732
8653 8942
N33, EW30; S23;, N3 ;NS IN;S2""; NS 28 NS 5°7; NS 58; NS 33, EW 20
West North East West North East South
10 10 Dbl
Pass 2= Pass Pass 20 Pass 2=
Pass 4= All pass Pass 38 Pass 3°°
4 & by North Pass 48 Pass 4NT
Raptor: (1©) - INT - (20) - 3© [&]; (X) - 33S Pass 5@ Pass 68
RR: see Raptor All pass
Std: (1©)-2""-(20)-X;(3©)-P-(P)-X; 6 8 by North

(P) - 328

Raptor: (1©) - INT - (30) - 58N
RR: see Raptor
Std: (10) - X - (3©) - 58N

The auctions all differ if West passes, but the result should be
equivalent.



Raptor Deals

Board 15 akKlJio
East Deals ©8
N-S Vul "J9653
8KJ42
a9g843 aQ752
©QJ765 ©A102
"84 TAQ102
8Q7 8108
aAb
©K943
K7
8A9653
NS 3N; NS58;NS3 ;NS 13, NS 1©
West North East South
1°° 10
Pass 1 NT Pass 2NT
All pass
2 NT by North
Raptor: (1"7) - INT - (P) - 28N! GOOD
RR: N/A

Std: (17°)-28 - (P) - 388

The Std auction could lose a heart fit; South takes a risk with a
matchpoint 1-under overcall.

58 makes only with four successful finesses, drops or splits. In other
words, 38 is at a small risk.

Raptor Deals
Board 16 21093
East Deals ©Q
E-W Vul 7942
8AQJ743
aAK?2 aQJlio64
©83 ©A107654
765 K3
898652 8 —
a7s
©KJ92
TAQJI108
8K 10
E32,E30; W23, W 20; NS 38; NS IN; NS 2™~
West North East South
Pass 17
Pass I NT 2771 Dbl
4= Dbl All pass
1. Michaels -- 5+ H; 5+ S; 11- HCP; 12 total points;
forcing
4 & x by West

Raptor: (12) - INT - (22) - 38; 32E

RR: see Raptor

Std: (1&)-2"" - (22)- 3§ [FNJ]; 32E

A fit-showing non-jump improves the Std auction; 3"~ would get 32E,

but without a club lead.



Raptor Deals

Board 17 aj743
East Deals ©QJ1076
None Vul 753
897
a6s 2AQ92
©K?2 ©94
TTKQ10 976
8KJ10632 8AQS85
aKi108
©A8853
"TAJ842
84
NS 3©; EW 48; EW 2N; EW 1&; NS 1™~
West North East South
18 Dbl
Rdbl 20 Pass Pass
30 Pass 3= Pass
3NT Pass 48 Pass
58 All pass
5 8 by East

Raptor: (18)- INT - (2°") [LR+] - P;
(2&) - P - (2NT) - P; 38E

RR: N/A

Std: (18)- X - (2NT) [LR+] - P; 38E

Raptor Deals
Board 19 age6
East Deals ©J10752
E-W Vul 76
8Q975
aQs5432 AaAKIR7
©KQ3 ©4
T QJ ""K109543
8J103 8K
210
©A986
TTA82
8A8642
EW 42, EW 4" 7; NS 20; EW IN; NS 28
West North East South
1°° 28
Dbl Pass 38 Pass
3= Pass 4= All pass
4 & by West

Raptor: (12) - INT - (20) [LR+] - 3©; 42E

RR: see Raptor

Std: (1) - X - (2NT) [LR+] -P; 42E



Raptor Deals Raptor Deals

Board 21 2AQ54 Board 22 2A104
East Deals ©5 East Deals ©64
N-S Vul 7987432 E-W Vul 10987
8J6 8A863
2876 2K92 aK98 2732
©AQJ104 ©983 ©A1052 ©KQ873
"J106 TAKQS 7652 TKQJ4
8Q5 8874 8J94 85
25103 2QJ65
©K762 ©J9
= TA3
8AK10932 8KQ1072
NS 22, EW 2©; NS 38 NS 42; NS 48; NS 2N; EW 20; NS 17~
West North East South West North East South
17 Dbl 10 28
Rdbl 1= Pass 2= 20 38 Pass Pass
All pass 30 All pass
2 & by North 3 © by East
Raptor: (1°7) - INT - (2©0W) BAD Raptor: (1©) - INT - (20) - X; (P) - 38 - (30E)
RR: N/A RR: see Raptor
Std: (1"7)-28S Std: (1©)-28-(20)-38;(P)-P-(3CE)
The Std auction is more difficult for the opponents. If West tries 20, LoTT carries West to 3©. Swap the pointy kings, and 3© makes, so it
it's forcing, and 3©, which may be set, will be played. With the likely won't be doubled. In any case, the auctions are equivalent.

standard defense to Raptor, West's 2© is non-forcing - just right with
the bad 8Q.



Raptor Deals Raptor Deals
Board 23 aA543 Board 24 aAQJ642
East Deals ©92 East Deals ©AQ98
Both Vul TTK8532 None Vul ]
8KS5 875
2J1086 2KQ97 a8 aK7
©AQS8 ©10643 ©10542 ©KJ63
97 “TAQIJI10 876 TTKQ4
8J732 838 8Q8643 8J1092
a? 210953
©KIJ75 ©7
64 TTA109532
8AQ10964 8AK
EW 32, EW 2N; EW 20; NS 28, EW 1™~ NS 62; NS3N; NS5 ;NS 1©
West North East South West North East South
17 28 18 17
Pass Pass Dbl All pass Pass 1= Pass 2=
2 8§ x by South Pass 4= Pass 4NT
Raptor: (1°7) - INT - (P) - 2"~ [ask]; Pass 52 Pass 6=
(P) - 2© - (P) - 2NT; (P) - 38S All pass
RR: N/A 6 = by North

Std: (17°)- 28 - (P) - 2NT; 388

Raptor: (18) - INT! - (P) - 28 [ask];
(P)-22_(P)-43N  ~BAD
RR: (18) - INT! - (P) - 38 [LR+ask];
(P)-3=1[", accept] - (P) - 40;
(P) - 4NT - (P) - 52 [2 with]; (P) - 62S
Std: (18)-1"" - (P) - 13 (P) - 32 - (P) - 4C;;
(P) - 4NT - (P) - 5 [2 with]; (P) - 62S

The Std and RR auctions are pushy, but quite possible. Raptor, after
the artificial inquiry has no agreed way to set trump. Knowing the
major from the get-go empowers the RR North.



Board 25 a986
East Deals ©J1076
E-W Vul A4
8AR874
aQs532 aKi1o0
©Q9 ©AKR8432
Q875 106
8J103 8Q95
aAlT4
©5
""KJ932
8K62
NS 32; NS2N; NS 3" "; NS 28§; EW 1©
West North East South
1© Dbl
INT 28 All pass
2 8 by North

Raptor: (1©) - INTS
RR: see Raptor
Std: (1©)-X-(P)- INTN

Raptor Deals

Raptor Deals
Board 26 aTs
East Deals ©107
Both Vul 7932
8QJ9654
aqQ2 AAKI10986
©AKJI86 ©93
Q87 7106
8732 8AKS
aj43
©Q542
""AKIJ54
810
EW 5N; EW 53, EW 40; EW 2" "; EW 28
West North East South
& 27
Dbl Pass 3= Pass
3NT All pass
3 NT by West

Raptor: (12) - INT - (X) - 38 [weak];
(3®) - P - (42E)

RR: see Raptor

Std: (19)-2""-(20)-P; (3=)-P - (42E)



Raptor Deals

Board 27 aJ98763
East Deals ©86
None Vul Q5
8976
21054 aA
©Q107 ©AJ54
""K1063 87
8J52 8AKI10843
aKQ2
©K932
TTAJ942
8Q
EW 58; EW 3©; EW 2N; NS 22
West North East South
18 Dbl
I NT Pass 38 Pass
3NT All pass
3 NT by West
Raptor: (18)-INT-(P)-2"";(38)-P(48)-P;
(58E)
RR: N/A

Std: (18)-X - (P)- 1&;(38)-P - (48) - P; (58E)

Raptor Deals
Board 29 a)
East Deals ©98732
Both Vul TK3
8KQ743
AAJ109754 a9
©1064 ©AKQJ5
64 TTAT52
89 8652
aKgo63
©
"QJ1098
8AJI108
EW 32, E30; NS48; EW 2N; W 20; NS 1™~
West North East South
10 Dbl
20 Pass 377 Pass
40 All pass
4 © by East

Raptor: (1©) - INT - (20)-38N ~GOOD

RR: see Raptor

Std: (1©) - X - 2= [weak]) - 38; (P) - P- (3CE) - 48N

It seems better to use a takeout double instead of Raptor INT, when
appropriate - but not this time.

The Raptor and RR North knows South has a heart void and therefore
at least three clubs, once West raises. In each of these cases, the
Raptor bid steals West's spade suit, as 22 would be artificial.



Raptor Deals Raptor Deals
Board 30 a932 Board 31 aQs3
East Deals ©QIJs East Deals ©J1096
None Vul 710984 N-S Vul Q93
81086 8Q65
2AKQ6 2710 2A9842 26
©982 ©AKI107643 ©Q4 ©A8532
J76 QS5 742 “TAKG6
8532 8KJ 8KJ98 810742
28754 2KJ107
©— ©OK7
“TAK32 "J10875
8AQ974 8A3
E4N; E40; W3O; N2 " ;NS28; E1=;,S 1™ EW 48; EW 20; EW 1&; NS 17~
West North East South West North East South
10 Dbl 10 1=
20 All pass 22 Dbl Pass 37
2 © by East Pass 3= Pass Pass
Raptor: (1©) - INT - (X) - P [ask]; Dbl All pass

(2©)-P - (3GE)
RR: see Raptor
Std: (1©0)-X-(XX)-2"7;(20)-P - (3CE)

3 = x by South

Raptor: (1©) - INT - (X) - P [ask];
P)-28[7]-(X)-277;
(P)-P -(2%)-P; (38E)

RR: see Raptor

Std: (1©)-(P)-(1®)-P;(28)-P-(38E)



Raptor Deals Raptor Deals
Board 32 2Q987 Board 34 2AQ97
East Deals ©Jo6 East Deals ©Q652
E-W Vul K72 N-S Vul ""K94
8QJ52 8J9
a43 2AKIS2 2J108654 2K3
©K1092 ©743 ©8 ©A974
10983 TTAQ654 2 “TA85S
81086 8 — 8K10532 8Q876
2106 a?
©AQS85 ©KIJ103
] "QJ10763
8AK9743 8A4
EW 4", N2N; W20; NS 38; S IN; EW 1%, E 1© EW 32; NS 30; EW 48; NS 3" "; NS IN
West North East South West North East South
1= 28 18 17
Pass 38 All pass 1= 27 22 All pass
3 8 by South 2 2 by West
Raptor: (12)-INT-(P)-28;(2"7)-P-(P)-38; Raptor: (18)- INT - (22) - X;
(P)-P-(3'E) (P)-3©-(48E)
RR: N/A RR: N/A

Std: (12)-28 - (P)-38;3 E

Std: (18)-1""-(12)-28 [LR+];

(P) - 20 - (P) - 3©; (P) - P - (48E)



Raptor Deals

Board 35 aQJlo4
East Deals ©62
E-W Vul 7932
810763
asg aAKI10752
©Q754 ©K109
10876 K
8KJ95 8A84
263
©AJ83
TAQJS54
8Q2
EW 32, E 30; EW 2N; W 20; EW 28
West North East South
1= 2°°
Pass Pass 2= All pass
2 & by East

Raptor: (12) - INT - (P) - 28 [P/C]; (22E)

RR: see Raptor

Std: (1&)-2"" - (P) - P; (22E)

Board 36

East Deals

Both Vul
2105
©1083
TAQI107
8KQ73

West

Rdbl

Raptor Deals
aQ9762
©92
"J85
8984
AAK843
©AQ76
7432
85
aj
©KJ54
K96
8AJ1062
E3©; EW 2N; EW 22, W 20; EW 3 ;E 18
North East South
& Dbl
Pass Pass 28
All pass

Dbl
2 8 x by South

Raptor: (12) - INT - (X) - P [ask];
(P)- XX [8]-(P)-28;(P)-P-(X)

RR: see Raptor

Std: (19 - X - (XX) - INT; (P) - P- (X) - 28;

(P) - P - (X)



Raptor Deals

Raptor Deals
Board 38 21082
East Deals ©J1083
E-W Vul Q97
8983
a97 aQls4
©Q7542 ©K6
TTAKA42 J1086
862 8AKS5
AaAK63
©A9
753
8QJ1074
EW 3 ;NS IN; EW I, EW 1©; NS 18
West North East South
1°° Dbl
377 Pass 3NT Pass
40 All pass
4 © by West

Board 37 ag32
East Deals ©97
N-S Vul K6
8987642
aQJ7654 AAKI0
©KQ53 ©A102
7102 "J98754
8] 8Q
a0
©J864
TAQ3
8AKI1053
E 42, W 33; NS 48; EW 20; EW 3~
West North East South
1°° 28
Pass Pass 27 Pass
2a Pass 38 377
4= All pass
4 & by West
Raptor: (1°7) - INT - (2®) - 48N
RR: N/A

Std: (177)-28-(X) -48N -- Does not say one major will be
splitting badly - West may try 4=.

Raptor: (1"7)-INT-(2"'E) GOOD

RR: see Raptor

Std: (177)-28-2""E

Either auction could lose an E-W heart fit. Std is riskier for South, and
might lose a spade fit.



Raptor Deals

ag7

©10986

7942

§A1064
aAQ84
©17
“"AKS87S5
873

as)

©AQ32

Q10

§KQJ95

EW 42, EW 4" 7; NS 20; EW IN; NS 28

Board 39
East Deals
Both Vul
aKJ1063
©K54
"J63
882
West
Pass
3 8 by South

North East

South
1°° 28

38 All pass

Raptor: (1°7) - INT - (2#) - (P); (3®W) GOOD

RR: N/A

Std: (177) - 28 - (X) - 2=E)

42 is a bad contract, with at least three losers on top. It makes because
the ©K is well placed, and the " "Q is doubleton. The Raptor auction
pushes E-W to the 3-level and maybe to game.

Raptor Deals

Board 40 a9y
East Deals ©Q43
None Vul TAJ1063
8AK7
21053 aAJ42
©J10876 ©K95
98 T2
8542 8QJ863
aKQsgeo
©A2
"KQ754
8109
N6 ;NS5N; N4=;, S5 7;S33;, NS20; N28§;S 18
West North East South
Pass 17
Pass 2771 Dbl 377
Pass 3NT All pass

1. Inverted minor suit raise -- 4+ D; 3- H; 3- S; 10+
HCP; forcing to 2N

3 NT by North
Raptor: (18)- INT - (P) - 2" [ask];

(P)-2=2-(P)-38;(P)-30-(P)-3NTS
RR: (18)- INT! - (P) - 2NT [GF]; (P)-3 " - (P) - 3NTN
Std: (18)-1""-(P)-28;(P)-2=-(P)-38;

(P)-3© - (P) - 3NTN

The Std auction is more comfortable.



Board F5 aQ10
South Deals ©AR832
N-S Vul 12
8K9876
aAJoT72 ags
©95 ©J7
75 T"KQ10863
810432 8AQ]J
aKe643
©KQ1l064
“"A94
85
NS 40; EW 27~
West North East South
10
Pass 20 377 Pass
Pass 48 Pass 40©
All pass
4 © by South
Raptor: N/A

RR: (177)- INT! - (P) 2" [C-ask]; (3 "E) - P - (P) - X [takeout];

(P) - 3© - (P) - 408
Std: (177)-1© - (13)-27"; (X) - 408

Board F7 AAKI2

South Deals ©73
Both Vul 54
8Q9754
210876 as
©42 ©KQJ8
1762 Q10983
8K82 8AJI10
aQ954
©A10965
TAK
863
NS 33, NS 2©; EW 3" 7; NS IN; NS 28
West North East South
10
Pass 12 Pass 2=
Pass 40© Pass 4=
All pass
4 & by North

Raptor: N/A

RR: (177) - INT! - (P) - 37" [LR+ask];
(P)-30© [©, refuse] - (P) - 32N GOOD

Std: (1"7)-1©-(P)-28; 2NTS



Board F9 aAQI987
South Deals ©106
E-W Vul TTA104
894
as3 an
©32 ©A954
TTK8532 Q76
810762 8KQIJ85
aK1064
©KQJ87
19
8A3
NS 53; NS 50©; NS 2N; EW 2" "; EW 28
West North East South
10
Pass & 28 2a
Pass 4= All pass
4 & by North
Raptor: N/A

RR: (18)- INT! - (P) - 42N
Std: (18)- 10 - (P) - 1&; (P) - 33 - (P) - 42N

Board F17
South Deals
None Vul

2AJT763
©K106
" KJ9
§92

20109

©7

7876543

§Q43
ay
©A854
102
8AKJII076

aggs2

©QJ932

~AQ

885

EW 4N; EW 58; EW 33, EW 30; EW 27~

West

1 a
2 8 by East
Raptor: N/A

North East South

1©

Pass 28 All pass

RR: (18)- INT! - (X)-2 " [play]; (2©) - P - 3NTW)
Std: (18)-X-(XX)-1"";(28)-P - (2NT) - P; BGNTW)

The RR East knows, after North's 2, that West has at least five

spades.



Board F21 2Q92
South Deals ©9
N-S Vul TA654
8Q10863
21074 AaAK]J
©A1087 ©J64
Q987 J103
872 8KJ95
ag653
©KQ532
TK2
8A4
EW 2N; EW 2©; EW 2" ; EW 1&; N 1§
West North East South
1©
Pass I NT Pass 28
Pass 38 All pass
3 8 by South

Raptor: N/A
RR: (18) - INT! - (P) - (28) [C-ask];

(P) - 2© [©, not strong] - (P) - 22N BAD
Std: (18) - 10S

If the RR North chooses 2"~ [P/C], the result will still be 22N.

Board F31 298542

South Deals ©J64
N-S Vul ""K8765
g
aK]) 2AT
©109 ©K83
713 Q942
8QJ98654 8A1032
aQ1063
©AQ752
“TA10
8K7

NS 42, NS3©; NS 2" ; EW 28

West North East South
1©
38 30 48 40©
Pass Pass 58 Dbl
All pass
5 8 x by West

Raptor: N/A
RR: (1"7)- INT - (38) - 3%; (58W) - X GOOD
Std: (1"7) - INT - (38W)



